
Multiply by 0.1 (F)Find each product.
3.7 × 0.1 = 9.37 × 0.1 =
6.0692 × 0.1 = 6 × 0.1 =
6.82 × 0.1 = 0.0367 × 0.1 =
8.3 × 0.1 = 0.2 × 0.1 =
1.478 × 0.1 = 1.01 × 0.1 =
2.686 × 0.1 = 3.18 × 0.1 =
4.3928 × 0.1 = 1.03 × 0.1 =
9.921 × 0.1 = 1.0965 × 0.1 =
5.29 × 0.1 = 9.6 × 0.1 =
2.92 × 0.1 = 0.8 × 0.1 =
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Multiply by 0.1 (F) AnswersFind each product.
3.7 × 0.1 = 0.37 9.37 × 0.1 = 0.937
6.0692 × 0.1 = 0.60692 6 × 0.1 = 0.6
6.82 × 0.1 = 0.682 0.0367 × 0.1 = 0.00367
8.3 × 0.1 = 0.83 0.2 × 0.1 = 0.02
1.478 × 0.1 = 0.1478 1.01 × 0.1 = 0.101
2.686 × 0.1 = 0.2686 3.18 × 0.1 = 0.318
4.3928 × 0.1 = 0.43928 1.03 × 0.1 = 0.103
9.921 × 0.1 = 0.9921 1.0965 × 0.1 = 0.10965
5.29 × 0.1 = 0.529 9.6 × 0.1 = 0.96
2.92 × 0.1 = 0.292 0.8 × 0.1 = 0.08
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